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3.15.16a0.01 pres
Bi1.129-87=42
2.111.3

5 = (7 —6)% + (10 ; 6)%+(1—6)> _

3.o=+v14=37a0.] pres.

2 1.

14

x ls)
Marion |7 |[1.41
Matthias |7 |2.16

2. Marion, car son ecart-type est inférieur a celur de Matthias.

BN=9

% = 2,25, donc O; = 10 (3¢ valeur).
3% = 6,75, donc Qs = 34 (7¢ valeur).

26
1. N=351

2. La médiane est la 26° valeur de la série ordonnée.
3.

Salaire horaire 107 12 15| 20| 30
Effectif cumulé 50 13| 33| 48| 31




2 1.

Valeur 1 2 3 4 5 6 7 8
Effectif cumule 2 3 4 9 13 2 26 28
2.N=28

J.a.N4="7T rang O::7.d’ou O1 = 4.
b.3N/4=21.rang Oz : 21. d’ou O3 = 6.




